1D pull distribution
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Adet RMS (ppm)

_______
© Te}
o o

(wdd) sny

S'T90V
7’1907
€'T90Y
2’1907
T'T907
0’1907
¥'0907
€090
20907
T'09017
00907
7’6507
€650
2’6507
T'6507
0'6507
08507
2’9507
19507
0'9507
T'ss0v
0’9507
¢'vsoy
T'vs0r
0'vsoy
v'esoy
oRo=10)4
2'esoy
T'esor
0'€soy
v'esoy
€'2s0y
2¢'esoy
T'csoy
0'¢soy
€' 1507
¢'TS07
T'T907
0'TS0Y
¥'0S07
€'0S07
¢'0s0y
T'0s0or
00507
v'6v0y
€60y
2’60y
T'6v0y
0’607
'8voy
€80y
2’8oy
T'8v0v
080



1D pull distribution
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lagr_asym_us_avg RMS (ppm)
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1D pull distribution
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lagr_asym_usr RMS (ppm)

(wdd) sy

S'T90V
7’1907
€'T90Y
2’1907
T'T907
0’1907
¥'0907
€090
20907
T'09017
00907
7’6507
€650
2’6507
T'6507
0'6507
08507
2’9507
19507
0'9507
T'ss0v
0’9507
¢'vsoy
T'vs0r
0'vsoy
v'esoy
oRo=10)4
2'esoy
T'esor
0'€soy
v'esoy
€'2s0y
2¢'esoy
T'csoy
0'¢soy
€' 1507
¢'TS07
T'T907
0'TS0Y
¥'0S07
€'0S07
¢'0s0y
T'0s0or
00507
v'6v0y
€60y
2’60y
T'6v0y
0’607
'8voy
€80y
2’8oy
T'8v0v
080



1D pull distribution
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lagr_asym_usl RMS (ppm)
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lagr_asym_us_dd RMS (ppm)
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